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21. Select the number that can replace the
question mark (?) in the following

series.

511,255, 72,63,31,15,7
A. 124 B. 127
C. 175 D. 125

22. Three of the following four options are
alike in a certain way and one is
different. Pick the odd one out.

O, (+)
A. @ B. E@

® ™
C FEe P e

23. Which of the options would be the
sixth figure in the following series?

B C||G H|IL MG R||V W
n F K P u
D4 IJ1D N||T 8|lY X
1 2 3 4 &
A B A

A z B. F 4
0 © o
A B D b C
z z
C. 0 C O

24. Select the fraction that can replace the
question mark (?) in the following
series.

64 32 16 8 4

e b

9'27'81'243' 729"

2 1

I
!d

P2
fad

24,

. g8 e g o i S #§ g

fee (7) @ W o gl & |
IN1IROS, 763,31, 15,7

A 124 B. 127
C. 175 B.. 15

= O e ¥ ¥ 99 59 veR 9
W & AR UF IR B | SR @
ferfeer @¥ |

@ @
A EO B E

O,

CEe PEe
. &1 TS SREeT ¥ B8 W W B W fdwe
3o ?
B cllG H||L MG R||V w
E.D J‘FI Bkll T'I ‘r‘u!
1 2 3 4 5
A A B B Bzﬁ
D'C C [+]

C‘ :ZB D_ Jﬂlﬁ

ag =1 g o Frefofiaa ot # ues
fore (?) @1 o= & Hdhar & |

64 3216 8 4

7

A 753 8. 2187 A 7539 B. 1%

o 2 = 4 -l

C. 153 D. 187 C. 1539 B, 2187
10310804305 PA/AC
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20,

26.

217.

28.

29,

30.

Which of the following words can be
formed using all of the letters
EEELLPSSS, but none other?

A. STEEPLESS B. SPELLSETS
C. SLEEPLESS D. EPISTLES

Three of the following four letter-
clusters are alike in a certain way and
one is different. Pick the odd one out.
A. CHSX B. IKPR

C. DIQW D. AFWZ

Select the letter-cluster that can replace
the question mark (?) in the following
series.

LJB, N1Y, PHV, RGS, TFP, ?

A. VEM
C. WEM

B.  VEN
D. VFM

If DAMSEL is coded as AEDLMS,
how will VALOUR be coded as?

A. AUVROL
C. AVUROL

B. AOULRV
D. AROUVL

Select the option in which the numbers
are related in the same way as are the
numbers in the given sets.

(6, 15, 30) and (12, 14, 84)

A. (12,16,32) B.
C. (12,16,48) D.

(16, 12, 36)
(16, 12,72)

Select the option in which the numbers
are related in the same way as are the
numbers in the given pair.

25,

26

27.

30.

g9 9 @ 91 9 @ael EEELLPSS
FERT BT UG HYD G T HHaAl & 2

A. STEEPLESS B. SPELLSETS
C. SLEEPLESS D. EPISTLES

. 1 IR 3R — HIE ° 9 O e
YR ¥ FHA & 3R UH 3 8|
T Bl fafed &Y |
A. CHSX B. IKPR
C. DIQW D. AFWZ

a8 JER—WE g1 ol e gaen
# ye — () & W o wad |
LJB, N1Y, PHV, RGS, TFP ?

B. VEN
D. VFM

A. VEM
C. WEM

. uf2 DAMSEL #! AEDLMS % &4 #
Hcdg fHar Tar 8, o VALOUR &

e woR Feag fdar smem?
A. AUVROL B. AOULRV
C. AVUROL D. AROUVL

ae ey g+ fored dE 94 WaR
o # Hee g O Rl g g aee
H Ty e # |

(6, 15.30) 317 (12, 14, 84)

A (12,16, 32) " B,
O § L N Ll 0 )

(16, 12, 36)
(16,12,72)

9% fadey g o W&t S yaR
9w # wefd & 99 R 1y g A
et Had |

(7,343) (7, 343)

A. (5,125) B. (4,16) A. (5,125) B. (4,16)

C/ (3,80 D. (25,125) C. (3,81) D. (25, 125)
PA/AC 10310804306
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31. If oats are called carrots, carrots are | 31. AR &E 31 TR B A1 8, ToR DI
called blimps, blimps are called flowers, | feers we1 oI &, feorms & o &Rl
flowers are called stones, stones are | TN 8, Het B YRR HEl Tl g R
called balloons and balloons are called | P AR el A 8 AN TER F
toys, then what do buds bloom into? ‘ fRaaii=T @er oirar 8, a1 wferl Raeas

CRIRCERINT
A. Flowers B. Balloons A. G B.
C. Stones D. Toys C. TR D. %

32. Select the option in which the letter- 32, 9% fwe i foraH spR—wvE 99 HhR
cluster is related in the same way as is 3o # wERd # O R man spR—wE
the letter-cluster in the given set. Hdfad g |
INQS INQS
A. FIMP B. PTWY A. FIMP B. PTWY
C. NQTV D. DHKN C. NQTV D. DHKN

33. Which of the following strings of letters | 33. Fr=foiRed 4 & fra R sfaer &
can be prefixed to the strings (IGHT), 'ﬂiﬂ?ﬂ (IGHT), (AME), (EW) iR (AT)
(AME), (EW) and (AT) to make H Ugel TIM WX WP W a4, S
common words that can be found in faeft SfIGl eregaier # UTY O W &7
an English dictionary?

A. (BR) B. (SH) A. (BR) B. (SH)
C. (PL) D. (FL) C. {PE) D. (FL)
r 34. Inalanguage, 'mohu ruptnyrk' means | 34. U@ #m7 ¥, ‘mohu rupt nyrk’ &1 et
1 ‘intelligent and hardworking', 'mohu triv gfear 3w ofRspdr, ‘mohu triv jech’
jech’ means ‘tests and examinations', 1 37 "woET 3 wdEnt, jech lyge:
'jech lyge' means 'examination | @1 3l afEm wE 3R ‘stoj rupt’ @
questions' and 'stoj rupt’ means ‘ .
‘intelligent answers'. What will be the | ﬁ ng% | Gﬁ?' o géﬂfm g
expression that means 'questions and | i
| answers'! _
A. mohu lyge stoj A. mohu lyge stoj
B. nyrk rupt mohu B. nyrk rupt mohu
C. nyrk mohu triv C. nyrk mohu triv
D. stoj nyrk rupt D. stoj nyrk rupt
35. Select the correct mirror image of the 35, 23 ¢ wdo &1 @) qdvr wfdfda g
given cumhmalmn
r*_': A _d METALS
A. GJNIEM B MERAR A QJATEM s MERFALR
GJATEN D. ELATEIM @JATEIM p. GLATEIM
10310804307 ¥ PA/AC
U T
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36.

Suman leaves her home, turns left,
walks 300m towards the north and
reaches the Mahatma Gandhi junction.
From there, she turns right and walks
500m to reach a hospital to visit an
ailing friend. After that, she turns right
(o go to a supermarket. After shopping
from the supermarket, she walks
straight to her house. In which direction
does the road from the Mahatma
Gandhi junction to the hospital run?

A. Eastto West  B.North to South

C. South to North D.West to East

TADY ST Ue
?ﬂ?ﬁw HATE, T8 A FeABR AT
% DI dSd b o # o 87

A [dHauffem B, I A @

C. sBordsR D. "ema g

37. Three of the following four optionsare | 37. 39 IR R$eu § § &= fft v |
alike in a certain way and one is different. HHE & 3R UF ST B | SITa &l
Pick the odd one out. fafgd &< |
. T o L e

K| O, " G =I® " [®
ik 0 SO o EyE TN
® [=]® [+ =®

38. Select the option in which the terms 38. o Rwe T o uat @ &g 98 e &
share the same relationship as that o f2d 70 ug g,qa\,- a2
shared by the given pair of terms. T 4
Square : 4
A. Decagon :5 B. Pentagon:9 A. TIYS : 5 B.99y : 9
C. Hexagon :7 D. Octagon : 8 C. w27 D.3eqd : 8

39. Select the option in which the words | 39. a8 fd@ey ?jﬂ oyt weal & 4= a8
share the same relationship as that HEY & W1 M W YH D dE 8|
shared by the given pair of words. T fhamg
Paper : Book
A. Phone:Talk B. Wheel: Car A. I : ardl B. ufgar : &R
C. Metal:Coin  D. Loan: Interest C. urg : = D. 3o : @

40. Select the number that can replace the 40. 3& W g o fFrafafm sl % e
question mark (?) in the following series. fore () =T e o wahl 8|
512,768, 1152, 1728, ? 512,768, 1152, 1728, ?

A. 2888 B. 2172 A. 2888 B. 2172
C. 2482 D. 2592 C. 2482 D. 2592
PA/AC 10310804308
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41.

42,

43.

45.

Prime Minister Narendra Modi launched | 41. w&=#31 oXg #1d 4 2019 ¥
the Fit India Movement in the month of fihe gfear qade & gouma @ oA |
2019.
A. July B. September A. IR B. fHdaw
C. October D. August C. 3R D, 3
Who among the following developed 42. e & fagia (e it Rafefad)
the Theory of Relativity? g ¥ fwd gr wfa wifes fawar
o7 ?
A. Madame Curie A. Hsq =0 BT
B. Albert Einstein B. ¥cac dEREA 51
C. Alfred Nobel C. %S el ZM
D. Charles Darwin D. dred SIfdd g/
In October 2019, the Ministry of 43, UAERY, 99 U4 Aerarg uRads qared
Environment, Forest and Climate (MoEFCC) = atggax 2019 ¥ wiRd #
Change (MoEFCC) launched the first g4 ¥ e gotd iR gy wenfa @
national protocol to enumerate the T B AT HRA B UBAT T
population of which of the following dretdrel 3wy faar e ?
elusive and endangered species in India?
A. Snow leopard A. few dgen
B. Indian rhinoceros B. ARG TSl
C. Guijarat lion C. 7o & e
D. Bengal tiger D. €7 3R
In which year was the River Ganga = 44, fég a§ # 77 =81 &1 Uy +4) aifte
declared a national river? ferar war a7 ?
A. 2004 B. 2008 A. 2004 B. 2008%#
C. 2014 D. 2016 C. 2014 % D. 20164
Which of the following states are | 45, =79 & S 9§ U UFAHE 2% & HTH
connected by the Palghat Gap? HISgU B ?
A. Maharashtra and Goa A. HERTS 3R TEr
B. Kerala and Tamil Nadu B. & 3R afeTg
C. Tamil Nadu and Andhra Pradesh C. dfcrrg 3R 3 Hew
D. Karnataka and Kerala D. ®ic®d 3N e
PA/AC
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47.

48.

49.

50.

Which of the following Harappan cities
was divided into three parts?

A. Lothal B. Mohenjodaro
C. Kalibanga D. Dholavira

In which year was the Supreme Court
set up by the East India Company in
Calcurta?

A. 1757 B.
C. 1773 D.

1765
1792

In 2019, who took the oath as the Chief
Minister of Haryana for the second
time?

A. Bhupinder Singh Hooda

B. AnilVjj

C. Manohar Lal Khattar

D. Dushyant Chautala

Who was awarded the Nobel Prize in
Literature in 20197

Abiy-Ahmed

Peter Handke

Olga Tokarczuk

Bob Dylan

0w

The Indian cricket team played its first
ever day-night test match against

47.

48.

49,

ESWTHIA & 590 F DI 91 TR, a4

qrTt ¥ famforg en ?

(A) AR (B) HEW grel
(C) Prefra (D) TETdRT
¢ sfed HU A g a¥ § dae
W Hared AT @l WU § off ?
A. 1757+ B. 17654

C. 17734 D. 17924

2019 ¥, fdw eRamm & gEE &
w9 H g AR 99 o ?

A. yftex 4 891 9
B. fa faw =

C. HIEY ol W@ex o
D. g=id et A

2019 ¥ |t &7 T4 REHR F4H
¥ 58 wem far man ?

A. 341 IEHS BT

B. dicx g &I

C. AT SABRGHD B
D. @fq fS& &1

22 Y 26 F4aY 2019 Td 9Ny e
€M | AU Had Usel faA-d e

from 22™ to 26® November 2019. | 3 fawg Qe
A. Srilanka  B. England A. Hrciar B. gwis
C. SouthAfrica D. Bangladesh C. cféor anfir D, 4Ty
51. Who won the US Open Men's Singles | 51. 2019 % Z.U¥. 34 g% Uad f&amE
title in 2019? = <irar?
A. . Rafael Nadal A. B TSt o
B. Daniil Medvedev B. Fa ¥&@Eea A
C. Andy Murray C. TSI | A
D. Nick Kyrgios D. A o 3
PA/AC 10310804310
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. Who was the Chairman of Indian Space

Research Organization (ISRO) when
ISRO launched Chandrayaan 2
mission?

oL

R (ISRO) gRT g 2 e &
oy WM & |9 AR 3R AFEe
e+ (ISRO) & 3fas &+ o ?

A. Dr.K. Sivan A. Si. . g
B. A.S.Kiran Kumar B. U UH b R
C. Shailesh Nayak C. ¥el9 g
D. K.Radhakrishnan D. & YHFHYH

53. How many fundamental duties were | 53. 42 9 Wl WA % A9 | 9N
included in the Indian Constitution wfaer # fbas Hifes wda affaferd
through the 42 Constitutional f5d g & ?
Amendment?
A. 11 B. 9 A. 11 B. 9
| B (3 D. 12 .40 D. 12

54. Under which writ does the court order 54, fow uiRfe & siavia ~mamely, afeR
a lower court or another authority to “rarery a7 fef oy Wit & e
transfer a matter pending before it, to difad fdl Ame &1 Seaaw wifersr 4
the higher authority or court? AT § WEARG $eE B e

aar 87

A. Mandamus  B. Quo Warranto A TRHRES B. &R g
C. Certiorari D. Prohibition C. Sa8m D. fy

55. The famous historical monument 55. arhex BNT g9arar T ufte vawfie
'Buland Darwaza', built by Akbar, is FIRS 'geig qRarall IR Wa¥ & ——
situated in the district of —— e ® Rerg B
Uttar Pradesh.
A. Meerut A. W8
B. Kanpur B. YR
C. Agra C. 3
D. Allahabad (Prayagraj) D. SclieEE (HarR)

56. Which Sikh Guru's birth anniversaryis | 56. &9 @ 1% & Sl [owa’ @ER
celebrated as the festival 'Gurupurab'? & Y A 7R A @ ?
A. Guru Gobind Singh A. 7% Tfde s
B. Guru Tegh Bahadur B. % O EIgY
C. GuruArjan Dev C. 7% 3 <F
D. GuruNanak Dev D. 7% 7F® <9

10310804311 1 PA/AC

- IR AR m



10310804312

5 £

58.

39.

Which of the following folk dance
forms is NOT associated with the state

of Haryana?
A. Dhamal B. Khoria
C. Jhumar D. Jawara

Which of the following banks is NOT
a public sector bank in India?

A. Allahabad Bank

B. Punjab National Bank

C. UCO Bank

D. Federal Bank Ltd.

Which scheme was launched by the
Prime Minister in 2015 for providing
loans up to 10 lakh to non-corporate,
non-farm small/micro enterprises?

A. Pradhan Mantri MUDRA Yojana
B. Makein India

C. Ujjwal Bharat Yojana

D. Atal Pension Yojana

Which of the following Commissions

is mandated to recommend the

minimum support price for farmers?

A. Commission for Welfare of
Farmers

B. Commission for Agricultural Costs
and Prices

C. Commission for Agriculture
Growth

D. Commission for Agricultural
Development and Growth

57.

58.

39.

g W B 1 ey BRI 9§
wafee el 8 7

B. wifvar
D. waRI

A. HHT
C. IR

qRd # 399 9 B9 9 de g
& &1 dp T & ?

A. gonEErs de

B. Uulld A 4

C. g® 4@

D. %evel 4% for

2015 # WA T N — @Rke, v
FM oY /R IeHl B 10 A TF B
FU YeT & @ fog g | @ 6
Ao g6 @ g off ?

. WETHA qET A5

. W& g9 sfean

FTre WA ATl
Fed U9H Ao

oNw>

g 9§ fw amam | e # o
AT FHIA e AR e fard

aAmr & ?

A. fram ssamr s

B. R SATe qd B e
C. o gfE amdm

D. ofY @ ga gfs smam

PA/AC
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61. ADSL provides data 61. ADSL ECA S
rates in the downstream direction, from wai € P I- WA w6 Ul
the central office to the end user, than feen @1 smenm FEw wEl-wE | fH
in the upstream direction, from the end waTenT o e R d geE avar )
user to the central office.

A. higher A. SR

B. lower B. =R

C. equal C. s

D. higher or lower (depending upon D. S=aa¥ 41 (= (e 3R Ser
provider and traffic) e — gRamr (@f6®) T AR

62. In web development, a is 62, ¥4 faF™ H, — UF UHR & 94 JTHANT
a web application that combines (T=hiae) & S Udhel Ao SeRIbaTD
multiple services to create a single new (Rrrer aiftherer gevww) ¥ wafda vaa
service displayed in a single graphical A AT B gord S & fory g dansi
interface. I FaIfTd Her B |
A. Multicasting | A. Aeel BIiReT
B. Moodle ' B. #sd
C. Meme C. 99
D. Mashup D. #wEy

63. The terms 'crawling’, ‘indexing' and | 63. ‘iferT, ‘ST iR WdHr wa fbw
'ranking' are related to: | Haled g ?

A. phishing A. grEre () @

B. search engines B. @rofl suA (9 gform) 9
C. browsers C. fao=el (graer) 9

D. internet service providers D. ge¥ie Jar yardrei ¥

64. What is the keyboard shortcut to paste 64. Microsoft word Wigel ¥ fwudie #
the contents of the clipboard in a il #1 e @ @ foe e e
Microsoft Word file? sifédHe o1 war & e g ?

A. Cul+P A. Cul+ Pl
B. Cul+V B. Curl+V &1
C. Ctul +C C. Cul+ Cr
D. Cul+ X D. Cul+ X &1
110310804313 13 PA/AC
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65. When entered in the cells of a Microsoft ~ 65. @ Microsoft Excel a@¥ie % st
Excel worksheet, numbers are, by (Fow) & @ ufde 1 o & @1 a
default, qd iR Rafa (@ Ruie) gmr ——

Bref €
A. leftaligned A. 18 3R wfEd
B. centrealigned B. g # ¥R
C. right aligned C. =% 3R WfEd
D. justified D. 95 gy (GRemEs)

66. In Microsoft Word, you can customise ~ 66. Microsoft Word #, 319
or choose predefined margin settings &1 999 e qd AuiRa Suid
by going to el (@fom Afew) & smafod

(F¥eHIES) B G & I g9 A B |

A. Layout > Margins A. Layout> Margins
B. Insert > Margins B. Insert> Margins
C. Review > Margins C. Review > Margins
D. Draw > Margins D. Draw > Margins

67. In Microsoft PowerPoint 2016, 67. MS - PowerPoint 2016 ¥, L

contains formatting, gs W @i o arelt Wil

positioning, and placeholder boxes for il & forg wife, gt
all of the content that appears on a slide. 3R i Eieey dfaw fAfta 8@ €|
A. Outlineview  B. Slide format A. ¥¥eAEA @ B, WgE Bife
C. Slidelayout  D. Slide master C. Wgs o#l¥e D, Wige HRex

68. In MS-PowerPoint, 68. MS-PowerPoint ¥, 3!
lets you copy all of the formatting from UF 9 ¥ g Hwav (BifE) @1
one object and apply it to another one. B B AR T g vy # g

@] H HErgdl HaH &l 2 |
A. Format Style A. Bife wEEd
B. FormatAll B. Bifc 3iid
C. Format Paste C. BT U
D. Format Painter D. ®ife tex
PA/AC 14 10310804314
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69.

70.

When you're using ;

you'll always be running the most up-
to-date version of the apps that
Microsoft can offer. This unlocks
regular security updates, improvements
and more importantly, access to the
latest features and tools as soon as they
become available.

A. Office 2019

B. Office 365

C. Open Office

D. Cloud Office 2019

In Microsoft PowerPoint, you want to
ensure that your company logo appears

on the right-hand top corner of all the

69.

70.

o1 3y &7 TN HR B
NI €, 1 319 Hag AISPRITe §RT W
ferd 0 waifts s (3uees) U=
e ¥ B & | 78 rafie yren s
(STUSTH), GHIRT BT WHE (JFTAR) el
g oiR ft gewyol w9 ¥, A4
fafireand ok Tod oI 8 Sude e
£ ST SUNTH Heardl & |

A. Office 2019

B. Office 365

C. Open Office

D. Cloud Office 2019

MS-PowerPoint # 37 I8 GHFIa &1
e & {5 s Hu @ e e
(@), frelt wew wxfaeRor # Wi

slides in a given presentation. Which wWged & & gt & W s T
of the following views would you use T HRA & forg st RferRaa 9 9
to do this? e =g W1 JAnT FHeAr B ?
A. Slide Sorter A. TASS Hiex &
B. Slide Master B. Wlgs ANCY &
C. Notes Master C. I ANEX &l
D. Outline View D. 3macarsT & &l

71. To insert a table of contents in a  71. Microsoft Word 2016 veid (Sfagic)
Microsoft Word 2016 document, you H wfiar @ afeer ufdwe @y $
would need to go to the forg, Myt A=Y 29 IR AT
menu tab. BT |
A. Layout B. Design A. TRISE B. feumsA
C. References D. Insert C. VHEra D. swe

10310804315 PA/AC

[0 (TR T



10310804316

72. Inreference to Microsoft Excel, please 72. Microsoft Excel & ¥&" H, &udl
see the contents of the following cells: eI WIS (Fesd) &1 FHiEl o |
A » B 4 A B
1 4 6 1 4 6
2 5 8 2 5 8
Cell A3 has the formula =A1*$AS2. el A3 &1 93 = A1#5AS2 8 pors
The formula from Cell A3 is copied to (@) A3 9 93 & g (Fe) B3 4
Cell B3. The value displayed in Cell B3 @il fbar wrar 8| uers (§a) B3 4
will be: yefdd == @ 8 ?
A. 40 B. 20 A. 40 B. 20
C. 3 D. 48 C. 30 D. 48
73. 15 an established set of rules 73. | @1 ue wenfug e g
that determine how data is transmitted ol 78 MuiRe &ear & 6 v & dona
between different devices in the same (Fead) ¥ RAf= Suael & 9= SeT 3
network. Essentially, it allows fow waer yaiRe fear v | sifHard
connected devices to communicate WY ¥, g8 GOifoTd SUDRUl &I A9g H
with each other, regardless of any RO Y ol B, Wl B IAD! IARD
differences in their internal processes, ufhamsil, W= a1 aiffeey (fEamg=) #
structure or design. By AR 8|
A. Network Software A. TETd HTedIR
B. Network Protocol B. #cad Aciaid
C. Network Media C. wcas Aifsar
D. Network Operating System D. wedd IiaRfeT Rved
74. A is a collection of 74, ——qF Hifos WIE, O 99,
devices connected together in one | BTy IT B H U AT G Iqho
physical location, such as a building, &1 (% WUE ©| I8 Bl AT 997 &
office or home. It can be small or large, ol &, 99 U SUARTHdl & Y
ranging from a home network with one Ud T Holld (B FcaE) ¥ oak Uh
user to an enterprise network with Sty a7 fere # suR! SRR
thousands of users and devices in an 3R SYHRI % AT FEH Foirel
office or school. (Jewurgst wcdd) 8 Fadl & |
A. LAN B. WAN A. LAN B. WAN
C. MAN D. Cloud C. MAN D. Cloud
PA/AC 16 10310804316
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5,

78.

79.

ovowm»

76.

17.

What is the full form of "TCP"?
Transmission Carrier Package
Terminal Control Protocol
Transmission Control Protocol
Transport Control Protocol

Which one of the following devices is
used for connecting computers in a star

topology?
A. Hub B. Repeater
C. Bridge D. Router

In which topology are all the network
nodes individually connected to a
central switch, hub or computer that
acts as a central point of
communication to pass on the
messages’

Star Topology

Ring Topology

Bus Topology

Hybrid Topology

¥ 0awe

Aliya has 2600 MB of data. Dinesh has
4000 MB of data. The combined data
would fitona USB flashdriveof
storage capacity.

A. 1 GB B. 2GB

C. 6GB D. 10GB

Which of the following binary
operations would give 111010 as the
result? (All numbers in this question are
in binary number system)

A. 111111-1011
B. 100101+ 10101
C. 110001 + 10101
D. 111101-101

9.

76.

77.

78.

79.

TCP' &1 Pof ¥a%y @1 & 7
A. TrafdeE R daw
B. effFa wgia Hieidid
C. eiafier Berer Hermie
D. gHUIE dglel Herdic

WR e § deed & g
v o forg f=feriaa # 9 fag Suaor
&1 warT far war 87

A. B9 & B. fdiex @
C.fas &1 D. W9eX @

Frfofad 4 @ fg Sdiaton | i
Hultel Gt (Feas Arey) afdra vu
S Hug Ra=, 86 I91 YN 9 el
g & o Wawh W uiRa & & fo
HeRY & U had fdg & w0 & &rl
FIA B 7

A. R el

B. R cdretan

C. 99 Srdrsi

D. sEfde el

anferar & urs 2600 MB 31 8| oo
% U 4000 MB BeT 8| &4 &l @I

STl WY WY W WSRO &l
dret e USB eieT S15d H SIelT W1l Wehell & |
A. 1LGB B. 2GB
C. 6GB D. 10GB

freforfag § & fg Ramard wfihar
(arg=r 3ifaRer=) &1 ulRens 111010 TP
{39 9z & T Gt fgammd wem
gl (@0 Ja fRwen) § &)

A. 111111-1011

B. 100101 + 10101

C. 110001 + 10101

D. 111101-101

0310804317
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powers on until the time the operating

10310804318
80. The is a small program that ~ 80. __ U WER @1 oY WU @
controls the computer from the time it Wl F9EX B SH WY W

BT & WeY U8 39 Biar & SN a9
d%, 59 do ArgefeT ey 99 g+

system takes over. e § 99 o
A. CMOS B. BIOS A. CMOS B. BIOS
C. EPROM D. POST C. EPROM D. POST
81. What is the typical range of RAM size 81. 3w & &mi # wawr fdy o+ 9
in a standard laptop used for office wes ouerd 3§ RAM & 3R @1 3
work? URTH T B 87
A. 128 KB -256 KB A. 128KB -256 KB
B. 256 MB-512MB B. 256 MB-512MB
C. 4GB-16GB C. 4GB-16GB
D. 128 GB - 256 GB D. 128 GB - 256 GB
82. The part of the CPU which contains | 82, CPU &7 98 w1 fored wfbed o
circuitry that uses electrical signals to BIAT & alN o 9uda wumsl & il
direct the entire computer system to & a1 e & % forg @ swgev
carry out or execute stored program firen & Adfa & & o faem
instructions is known as: Havd & UINT Heal &, 9 e AW |
ST rar 22
A. control unit A. ®giel gie
B. arithmetic and logical unit B. tRenifes sk iforaa qﬁ?.'
C. register C. ¥R
D. program counter D. HRIH $gex
83. requires constant power | 83, B B B B & fo
flow in order to function. Because of TR gy amyfd & snavaadar gl
the continuous power it doesn't need 2| wmar gy amft & R F
to be 'refreshed' to remember the data PR 29 & gy 4SiRd fbv o are
being stored. However, it is a volatile e B AE vEd F forg Wpwr Al
memory, which means that all the data &Y Ul & | Bleiid, U8 U HReR
that had been stored becomes lost once e e Sasr a2 & o ar
the power is cutoff. fRAgga syl arfa 8 uv 3aH weila
HRT ST < &1 Srem 8|
A. DRAM B. SRAM A. DRAM B. SRAM
C. SSDRAM  D. SDRAM C. SSDRAM D. SDRAM
PA/AC 18 10310804318
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84. A multitasking operating system means

that:

A. multiple computers can be
networked together.

B. multiple people can use a computer
concurrently

C. several programs can be operated

84,

qedrea sffe fven &1 el 18

g &

A. T% FYRI DI (P WA Heah fbar
I T & |

B. &% WNT Ud HEX B Uh A
R &Y |Hd & |

C. 980 ¥ WM & UF A e

concurrently fomem < w&ar 2
D. the operating system can divide | D. fRfeT Rwen, A= CPUs #
work between several CPUs 4" & BI Ao &Y gadl & |
85. Which of the following statements is =~ 85. Microsoft Excel # aifel flieex fdeu
NOT true with regard to the Auto Filter & ey # Ffoiad 3 9 @9 |1 duF
option in Microsoft Excel? S 1
A. By filtering information in a A. 58 addie d gear &1 fhee
worksheet, you can find values TD, A T ] B Tow W
quickly. o HHd & |
B. You can set a filter on one column B. 39 U& §9Y H ST F UF HicH
of data at a time. R U fheex 9 &X §dd & |
C. You can control not only what you C. 39 7 %ae 94 A &) 96 8
want to see, but also what you want it MY ST Ared & afees 99 M
to exclude. ST Ay & AT aEd ¥ |
D. Youcan search for text and numbers | D, 3 afer fheex fAwey &1 wam
using the Auto Filter option. TN S 3R @It i Hepd § |
86. The second generation of computers | 86. HWEY @ gE el W
were based on ‘ smeTiRa o |
A. integrated circuits A. Udigpd gRoi
B. transistors B. W¥ADI
C. VLSI chips C. VLSI f&r=m
D. vacuum tubes ‘ D. A Aferami
10310804319 19 PA/AC
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87.

Which one of the following input
technologies do banks use to process

87.

41 ¥ g@ B FERd w4 F
9% fae=fafas @ 9 = W fAfafe

cheques? A@HIP BT UAFT HYd & 7
A. OCR A. 31 9. 3. (OCR) @1
B. MICR B. TH. as. 9. &R, (MICR) &1
C. OMR C. 3. UH. &R (OMR) I
D. Pixels D. O @
88. In the context of computer processors,  88. HIEY HOMS & el #, ALU &1 907
what is the full form of ALU? | o 9T & ?
A. Arithmetic Logic Unit ' A. TReAies difore ghe
B. Array Logic Unit B. W @iftvie gfAe
C. Application Layer Unit C. TeiEeA o gfe
D. Application Layer Usability D. TEiEIH iR goifaferd
89. Which one of the following is NOT an ~ 89. fw=ifoifad 3 3 & v wilor 9= a1
Object Oriented or Object Based v MERe wraer (SnfEer) s
Programming Language? o R
A. Perl B. Ruby A. U B. o
C. Python 2 C C. uis99 | b S
90. Which of the following binary  90. FwifeiRes # & o= O Bamerd aftan
operations would give 101011 as the v w9 101011 M PEHE wA A
result? (all numbers in this question are | HeEn fRsmrd awen yore § 8)
in binary number system)
A. 100010+ 11001 A. 100010+ 11001
B. 110101-1010 B. 110101-1010
C. 101111-1100 C. 101111-1100
D. 100101 + 1010 D. 100101+ 1010
91. is the number of bits | 91. —— TP HAMG & ARG ST 99 H
in the internal databus of a processor. | faew = v & 8 | 98 fiew 9 98
It is also the number of bits a processor | HeEn 41 8l &, Y HOe e R §
can process at a time. | HART H) Aol & |
A. Control Unit A. T 3918 (Fgie gfe)
B. DatalLength B. <1 3y
C. Word Length C. 8 o
D. A Byte | D. U@ 9igc
PA/AC 20 10310804320
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92.

What determines the number of ’ 92. ) O ERT U OFe & T Gb

(TR AT

operations per second that a processor arel wfsharwit @ we &1 AuRer s
can perform? It is expressed in g fobar wirar 8 ? 39 #mees (MHz)
megahertz (MHz) or gigahertz (GHz). a1 frmEest (GHz) # @rh fawar Sier 2|
A. Clock Speed A. Tdlid HIE
B. Bandwidth B. dsfisy
C. Frequency C. amghy
D. FLOPS D. AT (FLOPS)
93. Which one of the following statements | 93, MS-DOS & ar # fr=ifaiftaa # 9 &5
about MS-DOS is true? Y FEl 8 ?
A. It is an open source software. o Il?'t:fﬁ s P
HfFTa 2|
B. [Itcan multitask. B. € T I 3 P TR el & |
C. S99 U 39 V@r SieRbeld
C. It has a Command Line Interface. (FHIE Tg Fe7%H) 8l & |
D. 98 Us 9§ e Syaradisl @
D. It supports multiusers. | el A 2|
94. Which of the following statements 04, F o I ¥ ol 3 9 ®9 4
about kernels is INCORRECT? T T & 7
A. Itis a computer program that A. U8 T BYER HHEY (ARIH) S
coordinates all executing utilities. o Frenfee suderamel (gfRfed)
B. Itis a computer program that FT TEEY HE &
controls all computer operations. B. u8 Y1 Bex HARY (M) B 9
C. Itis a computer program that T Hgex e @ P e & |
schedules and manages all system C. T U1 ey HHeY () & o
processes. it sromreht sl @Y PR i
D. It is a computer program that 21afterg St 2
provides an interface between a D. TE Y1 HEX HARY () & W
user and an operating system. UL 3R WHE 9Ol F 4
Teh IFRIBeAd SUoTal are |
|
10310804321 21 PA/AC
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95.

97.

98,

To create new volumes and format a
new disk that you just installed on a
Windows 7 computer which tool would

you use?

A. Disk Utility

B. Format

C. Disk Management
D. Disk Manager

The first generation of computers used:

A. vacuum tubes
B. transistors

C. semiconductors
D. mechanical gears

Which memory is NOT primarily based

on semiconductors?

Main Memory
Cache Memory
Secondary Memory

P 0w

Registers
Fiber relies on instead of
electricity to transmit data, which

facilitates much faster internet

95. M el fdSd 7 dwEeR F

f&v Hvenfia (gveia) o 8, 999 97
Es (dfegn) 7 iR e 1 Hwfid
(wife) & % forg anu FafeRea #
4 fdw wmEe (@a) & v s ?

A. & i @1

7
|
8

. fPefafem 9 9 99 @ St GR9)

& WU ¥ g ] W ERd T8
BIGl 8 ?

A. T=1 T ()

B. gfer wfq (@ #4)

C. fadzs wf ®F)
D. fresd

. T HER % g wrgas Rgga #1 amen

———— W R e 8, o 3ifey S
Y % S gevie HaEl @ giaemg

connections that are capable of handling WET Far /& o 9 defdey wiem

higher bandwidth. ‘ 4 wEH B €|

A. electricity B. light | A Rem B. 5T

C. electromagnetism D. magnetism C. fe—dsow D. g9
PA/AC 22 10310804322
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99.

100,

Which of the following cloud
infrastructure provisioned for exclusive
use by a single organisation comprising
multiple consumers (e.g., business
units), It may be owned. managed, and
operated by the organisation, a third

party, or some combination of them.

Private Cloud
Community Cloud
Public Cloud
Hybrid Cloud

=

What is common between Chrome,
Safari and Opera? They are all:

A. web browsers

B. search engines

C. social media sites

D

. web services

99.

‘ 100,

frfefaa & @ fhw gonge ammda
gl (79 SWReauR) # 3
SuarTEdR g [l tea §eH
(SR AT gHEdl) gRI 3
TUIGRT YA H W & 7 g [l
HTaH, TR UE A1 eI & HarwE gwy
Wit § v, vl SR el far
I el B

¥, BT SR SiftRT & e T wHET
gPawfiqmg?

A. 9% faere (@9 arao)

B. @i gui (W Tfor)

C. e Dfear fawn — e (Ggey)
D. 99 ¥

10310804323
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Read the following instructions carefully:

Prafufirs @t wm @ 0

1. Out of the four altematives for each guestion, only one circle

for the comect answer is to be darkened compietely with
Black Ball Point Pen on the OMR Answer Sheet. The
answer once marked is not liable to be changed

. The candidates should ensure that the Answer Sheet s not
folded. Do not make any stray marks on the Answer Sheet. Do
nat write your Roll No. anywhere else except in the specified
space in the Answer Sheet

. Handie the Test Booklet and Answer Sheet with care, as under

no circumstances (except for discrepancy in Test Booklet),
another set will be provided.

. The candidates will write the commect Test Booklet Series as

given in the Test Booklet in the Attendance Sheet

. Each candidate must show on demand his / her Admit Card to
the Invigilator '

. Mo candidate, without special permission of the Center
Superintendent or Invigilator, should leave his / her seat.

. The candidates should not leave the Examination Hall without
handing over their Answer Sheet to the Invigilator on duty,
Cases where a candidate has not signed on the Attendance
Sheet will be deemed not to have handed over the Answer

Sheet and dealt with as an unfair means case.

. Use of Pencil/Electranic/Manual Calculator is prohibited.

. The candidates are governed by all Rules and Regulations of
the Commission with regard to their conduct in the
Examination Hall. All cases of unfair means will be dealt with as
per Rules and Regulations of the Commission

10. After Examination is over, candidate has to return his Answer

Sheet to invigilator. Invigilator will hand over the Candidate's

| e ST AT A sl I s

fr &t 7 R G wie W HaE U e & gl
TR @10 &1 Uige O § ¥ | U AR I i
W & g I8 a5 T o v )

. uftanef g oY o e o @ g AW UE I

W #1431 Fror 7 ol | ohanl e e
w1 Pl e & sl Ao

. Uften Q%@ @ T T @1 WEYEe WA

autfar et off ofefRufy & ( Faw wden g @ &
w1 818 Y ) et vl g v oW e guea
Tt g o |

e g & & wdt ol gfae 6 St wlterd
o ot @ guitfa e 0 |

. i o ot e e, e s 1 S Ham

o fam |

. snfigE T Ty dye 9 Rty sl ¥ e o

gdtenf s w318 |

. WE Y iyE ® a9 oW S B e

el s =y Al @gd | ofe Bl odemd A
Jufeufer waes 0T gwaR el iy d ge e s &
T T T A eern § R ug e A @l
RISE H ST |

ofe / soeciHe / swafen wRees & gudm
afeda & |

. uften gt 1 amawo & e udftemd s 3wt P

ud fafyaet g Frafire & |amfam =i & af vl
1 e amam & P! vd Rl & sam 8|

10. vfiyn & uwia snadff o wE Ty STiEE S A

2 | arades g anodl 1 o e @) anadf wfdy

copy to candidate, then only candidate is allowed to leave the g ufd g S el au s Swia @ sy
examination hall. Candidate is only allowed to take Candidate's B Bgn 1 srefe ) e | I g @1 el
copy of answer sheet. 'Mﬁ 31 T 7 i ) SR R )

11, Candidates are not allowed to take Test Booklet with them.| 11, wfian & 3ueta wilamf ® whan g =u
They have to submit the Test Booklet to the Invigilator after yailys @ deEl o olan o @
the exam. ftemif s Ay @ A Ewd 8

10310804324
LD L DL

PA/AC 24




